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2. Please sketch (and describe) the region in R? given by the inequalities 3. (a) Please compute the following limit or explain clearly why it does

not exist. gfz\(
2422 <9, lim
0<f<E. @u)=00) T 4o X
Twg Ltk does net exist, T Ui el At ] /
. _ «Jr La,0) o
omy L Fuyet *\V\e/‘\,w\vh'{'% tavalnes ONAJ ¢ avd 3%:] (oGl T‘(L\f&i\'nlj ¥ (o, o) Qaj e ling uj_—x wtmw((w W\J )
: 2 B A ponts o Yus \uis - K .
a B-woes Lkon: rtye?c q deorues A P ‘?? x 7
3 4 wl o ading 3 6 He Limek A(cvv) g L v A

Taveliy ko (0,0) atony ¥ae e g =2x, however \
7y J oy 4

for all poriky  an kb o li, z,;( .2, / 73 (fﬁ e

G H Lk ALWS Yo LWy 1o 2 } (‘;‘;‘%0 ’ _‘%tmy\g{' ;q
i

(b) If f(2,y,2) = e’ sin(xy), please compute f,..

\ VI»{’ T < ﬁ k
¥ = ¢ A half dg g
'J‘ VWl '\\“f Wi Y 1“4 W.v. t.

(We asoune  170) Hew?) = P o bey)
”;\g“‘“‘ N Fglant = prodict vl s deviv with W‘afcu“«) y
y T 3 .
\M;o::g\:\{ OB e b o e S ) by e fylaaa)- 7"/“49’““%)%3* we(u])x
\l' "
{ : % Fon (saj) ‘ yc ws( )
o rpon e agitid prods o _/—u "

ﬁ(um/{'fv 'f;?w\m, fo AoV e .m‘_:{.,v,,_.W.r,.,,,mw»‘
falen 3) < IQ”J slv\(\ud) § 1«3@ sm&g) X xxjc” cm(zbjﬂ
1 o

e



4. (a) Let @ = (6,—2) and © = (2,1). Compute proj; @, the projection
of u onto 7.
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6. At what point(s) does the line 7. Consider the function f: R? — R? given by
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